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< hw lect22 1
= 1 weused a CI to answer the question Does it appear that the true proportion of detective
screws i not 2.5%. Here, answer the same question with the p-value approach. Specifically,
a) Set-up the appropriate hypotheses. Hiat . S€e2 Suwmmav '( T@\q LL
b) Compute the p_value (using the data in that hw)
c¢) At alpha =0.01, state the conclusion? Is it consistent with the conclusion from the CI approach?

\
C hw_lect22 2
pposed, to transform our question into "Does data provide evidence for ...?" Usually the "..." is

specified by you, the scientist. But just for practice, and to better understand the relationship between Cls and p-
values, let's ask "Does data provide evidence that the difference (mu_2 - mu_1) is less than the upper side of the
observed (2-sided) 2-sample CI?" Do not fix the Conf. level, i.e. don't pick a number for t*.

a) First, recall that the t* that appears in the formula for the'CI is designed to satisfy pr(-t* <t < t*) = confidence
level. Then, starting from that "self-evident fact," show that t* also satisfies pr(t< -t*) = (1-conf level)/2.

b) Setup HO, H1. Hint: look-up our formula for the observed 2-sample CI, and select the upper side. This step
will also tell you what is delta for this problem.

¢) Find the p-value in terms of the confidence level. Hint: Find the p-value, and then use part a.




